[ ]

NACHI
HERTE

TREUIILfFE
Sy THyh

= -

SG-ESSHFJIL

97 tyb T NR—

HAR 20174 4H108B (B)~5A31H ()K)

T | J £, FRryL T

AHY—ER
AH—EX

c4 A J) AT, 'F/\P'J)b

i T

AIAS LI T FAFIvT
ty & NE | 7o7Ta | wm| TN |y BT try & BE |2o7e || TAEUL |y Sadh
ZSP4M07-SET3 [M4x07 | 3| ¢34 1| 4320 ZPO4MO.7-SET3  |M4x07 | 3| ¢34 1| 4170
ZS:’_ 3F |75p5M0B-SET3 |M5x08 | 3| 443 1| 4200|| ZPO 3% lrponvog-seT3 [M5x08 | 3| 4.3 1| 4140
7SPEM1-SETS  [M6x 1 3| 5.1 1| 4590 * ZPOBM1-SET3  |MBx 1 3| 5.1 1| 4440
SGESS 1% |75pg\1 25-5E73 |M8x1.25 3| 6.9 1| 6540|| SGESS 1% l7p0gMm125-SET3 [MBx1.25| 3| 069 1| 6,270
ZSP1OM1 5-SET3 [M10x1.5| 3| ¢86 1| 8160 ZPOTOM1.5-SET3 |M10x 15| 3| ¢86 1| 7.980
ZSPAMO.7-SET5 [M4x07 | 5| ¢34 2| 7200 ZPO4MO.7-SET5 |M4x07 | 5| ¢34 2| 6950
ZSP 5% |75p5M0.8-SET5 |M5x08 | 5| @43 2| 7150|| ZPO 5% |7posmos-seTs |Msx08 | 5| @43 2| 6,900
+ ZSPEM1-SETE M6 X 1 5 ¢5.1 2 7650 + ZPOBM1-SETE M6 1 5| 5.1 2| 7.400
SGESS 2% |75pg\1.05-5ET5 [M8x 125 5| $69 2| 10900|| SGESS 2% |7pogm1 25-SET5 [M8x1.25| 5| ¢6.9 2| 10,450
ZSP10M1.5-SET5 [M10x 15| 5| ¢86 2| 13,600 ZPO10OM1.5-SET5 |M10x15| 5| ¢86 2| 13,300
(THEXE) xR A H
SyTiEE stk EPPEN tubfh BE tyh ¥k
) R34Z)L M4 x 0.7 3|ZSP4MO.7-SET3
A
JiEEEL ZE#E S (TEL)




